HES Y oA FLME J|BRF(

2N -H -'a%(mn kll

) 13,593,525 11,458,262 2,135,263
= 8,449,666
2| 1,935,331
= 3,208,528

JISEgY HES Y N FME2E J|ERE (s 13,559,565 11,458,262 2,101,303

pHs - &)

= 8,449,666
J| 1,935,331
o 3,174,568

g =X 11,509,689 4,630,486 6,879,203
2 7,779,116
J| 1,489,491
= 2,241,082

IIEEY e & HEAHE 2 il 5,862,540 0 5,862,540
= 5,109,516
< 753,024

308 XX EHI SO 5,862,540 0 5,862,540
= 5,109,516
T 753,024

01 IIXSHHBAEXZ2 5,862,540 0 5,862,540
OJI=saY olgt & 5,862,540
= 5,109,516
== 753,024

A Y Y 2AEH 47,500 0 47,500
= 40,000
== 7,500

403 XIS HSK=01 ™ 47,500 0 47,500
= 40,000
== 7,500

01 IXSHREE X 47,500 0 47,500
oYX, ASZEH| 47,500
= 40,000
= 7,500

AXty Y Y AARY 948,480 316, 160 632,320

2)

= 729,600
== 218,880

403 I XISHHSX=0|® 948,480 316, 160 632,320
= 729,600
=) 218,880

01 AXEHAEEXR 948,480 316, 160 632,320
ONHEASHEA 4X 948,480
= 729,600
== 218,880

s Mg Ee golx| 901,000 901,000 0
2| 540,600
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FA: SSYLW
FH: JisdgY H¥s 2 otF
R Otsgd =2

BN EH . G(BH) - MPAY - B2
307 glz2tol A 901,000 901,000 0
Il 540,600
= 360,400
02 QIZHEAAMNHE X 901,000 901,000 0
(©Fdkal. ] 901,000
Jl 540,600
< 360,400
SEUHNE 2H(=21) 1,138,669 999,826 138,843
J| 948,891
== 189,778
308 A XIEHHMSO0I™ 1,138,669 999,826 138,843
J| 948,891
== 189,778
01 IXSHHBAEES 1,138,669 999, 826 138,843
oOZsLHH 24 1,138,669
Jl 948,891
= 189,778
A4XME BE4=(31) 2,137,500 2,137,500 0
= 1,900,000
= 237,500
308 XXM SOIH 2,137,500 2,137,500 0
= 1,900,000
< 237,500
Ol HIXEHHBILEXS 2,137,500 2,137,500 0
O&XME Ba=3 2,137,500
= 1,900,000
= 237,500
AggeAAE 3 BN 38,000 38,000 0
206 M =4l 38,000 38,000 0
01 M ZHl 38,000 38,000 0
oggaas =2 & A 38,000
JIEdgY g3 Es EXx8 X 120,000 80,000 40,000
308 AtXI A SO0IE 120,000 80,000 40,000
01 IXSHBAEES 120,000 80,000 40,000
OJI=EdgEY HLHE EX XA 120,000
A SESIH IIFIE MHIA XY 57,000 57,000 0
308 At XI M-S0l ™ 57,000 57,000 0
01 HIXSHHMBLEXS 57,000 57,000 0
OZMN 2=E=0t JIEdE MHIA X& 57,000
HZLEZ2Y WAl X 60,000 0 60,000
308 AXISHHSOIE 60,000 0 60,000
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2N SBYAD
M JIEFYY IS L oW SME JUIS(SUHYSL/5Y - 55)
Bel: Jbmwe 23 (Et51: 8 2)
e i e oue | dus e
B L EREES) 60,000 0 60,000
os2EZY WA K& 60,000
ZAYUYISASH XY 18,000 18,000 0
202 044 11,000 11,000 0
01 SLhoil 11,000 11,000 0
o=EYY Yoy 11,000
308 XtXIEHHI SOl & 7,000 7,000 0
01 RXSHBABES 7,000 7,000 0
OZAY KILEE AlsHl XY 7,000
50} YRS ASAE X 35,000 35,000 0
308 X+XIEHHI SO & 35,000 35,000 0
B L ER eSS 35,000 35,000 0
0=t LA ASAE XV 35,000
gt g X 36,000 38,000 £2,000
403 X+XI EHHI S XH2 0l & 36,000 38,000 £2,000
01 RXSHR=SE 36,000 38,000 2,000
OB ASI| &3 36,000
HOLX &AM oY 10,000 10,000 0
308 XtXIEHHSOI& 10,000 10,000 0
01 IXESHBASED 10,000 10,000 0
OBOHX HAHY oflg 10,000
XEL ASAE 2% X 100,000 0 100,000
308 XtXIEHHI SO & 100,000 0 100,000
01 RXSHBABED 100,000 0 100,000
OXCYN ASAL 29 XY 100,000
HIYES 25 - 22 1,242,460 102,000 1,140,460
= 665,300
= 577,160
QARIISE YAH NV (2D) 86,420 0 86,420
= 59,600
= 26,820
308 X+XISHHISO0I& 86,420 0 86,420
= 59,600
T 26,820
01 RXSHBABES 86,420 0 86,420
ORARIISE AUH X 86,420
= 59,600
= 26,820
2DY0l BH3 +&H XNV (3D 12,540 0 12,540
= 5,700
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2A: SSYA
FM: O EFGY HFS Y oHF HNE J|HH(S
e gtelsE 25 - &
SA - ZB - 0(3) - HEAY - BES
308 X+XIEtH S0l & 12,540 0 12,540
= 5,700
< 6,840
O TUXESHHNBHEES 12,540 0 12,540
OZNA0 Sgse£d X 12,540
= 5,700
[ 6,840
SEESHH 4XH XN (1) 1,020,000 0 1,020,000
= 600,000
== 420,000
403 Tt XIS X201 ™ 1,020,000 0 1,020,000
= 600,000
S 420,000
01 HXIEHAE=EE 1,020,000 0 1,020,000
OSE:2sdH &X & 1,020,000
= 600,000
== 420,000
RISE 25 - &l XN 100,000 80,000 20,000
308 A+XIEtMIS0I ™ 100,000 80,000 20,000
O AXSHBHEES 100,000 80,000 20,000
ORJIISE E5ZC 100,000
gHESE SEM XY 3,500 7,000 A3,500
308 A+XIEtHI SO0l ™ 3,500 7,000 A3,500
O AXSHBAEEES 3,500 7,000 23,500
oteis=E S8A XN 3,500
2020l 43 A 20,000 15,000 5,000
308 A XIEHHISO0I& 20,000 15,000 5,000
0O AXSHBAERS 20,000 15,000 5,000
OZ N0l S4s ALY 20,000
SHE M - tNY =Y 807,416 6,725,776 25,918,360
= 5,250
Jl 445,840
= 356,326
SEZAY QI2Hl XN (21D) 670,000 670,000 0
Il 402,000
3 268,000
307 212t01 ™ 670,000 670,000 0
Il 402,000
== 268,000
02 QUZHBAMNEER 670,000 670,000 0
OS=ZAME ] 670,000
Il 402,000
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SH: S8YAD
HH: JISEgY HES 2 N M2 JEIAE(sH S/ s - 5E)
©el: FAE M - t8Y B2 (et ® @
2A - , HRs2
| ,
E4HS HACCP & E(=1) 50,416 92,736 242,320
Il 43,840
= 6,576
308 AtXIEHSO0IE 50,416 92,736 £42,320]
Il 43,840
< 6,576
Ol HXSHBAEES 50,416 92,736 242,320
O=4E HACCP 28 XIZ 50,416
Il 43,840
=3 6,576
S4SIH- SUSEHE HACCP XI& 76,500 90,000 A 13,500
403 XXM SEXR201A 76,500 90,000 213,500
01 AXHHA2EE 76,500 90,000 213,500
OFbtsll - SLUSEHE HACCP X 76,500
TRSH HoSMSALZAY 2E+2(2 1) 10,500 10,500 0
= 5,250
T 5,250
301 et as 10,500 0 10,500
= 5,250
< 5,250
MIIEtEas 10,500 0 10,500
OXXIEH HoUSAMASALLBANY 2E+E 10,500
= 5,250
== 5,250
HEHAH (SSLAW)(OIEHIIE) 33,960 0 33,960
J|E23H 33,960 0 33,960
FN2E JI=2ZH| 33,960 0 33,960
201 24| 21,960 0 21,960
01 At222iH| 21,960 0 21,960
ORKN2Y AMR2elb 21,960
202 04 Hl 9,000 0 9,000
01 =LHOiH| 9,000 0 9,000
ORA2E U0 9,000
203 YR =& 3,000 0 3,000
FA2EURFEHI 3,000 0 3,000
©15¢! Olst 250,000 128 3,000
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